"— M BERR R (GPQ)
BIERATLDBREL, ERLE-BEERVRY TTEBSNDEES

RESZRBLHEICKY . AaDOHLIRKREBICEBERNF H ATEE
ERRIEISHITHEBEREZTOVNI=LDEGPCELYS

LCL: TAEERR 100% S ET H=-OIZIE., BIEENZDEHEHFANTHLIDHE
CCL: L AEHERER /
1.20000
)
1.00000 LCL
— CCL
0.80000 / \ HELTHRIA=Z2EET S

r — (UCL —b) " [XT — (LCL — b)

& X
5850000 Hiit 2 =[
N / \ OGRR J OGRR J

0.40000 / /
0.20000 / \\ é*ﬁﬁﬁ% — - @(TJL H+$“LCL)
0.00000 J

0.2 0.4 0.6 0.8 1 1.2
AIEfE [Nm]




Bl FILODRTRIEN 0.5, 07BN NmDE G DERERERD S ESRERERDI-VDRFREX,

LTAEEREF(UCL): 1.0 Nm
TAEEREFR(LCL): 0.6 Nm ;]’E.
"Yb . 0.05 Nm HRaTE
OGRR : 0.05Nm N
LCL UCL REER T MER, D R

UCL LCL
@ LCL @ UCL B . -
"Yb fmYb E2ELLLTHETEZELE TS

‘ N — (UCL - b)

/,\XT (LeL — b)/\{ A /\ ' e [XT_(UCL b)] [ r — (LCL — b)]
X / \ HEt=E
oc: ;R Xt | GG‘_R.bRXT SRR SRR

/

BRER = 0(Wrl Eyc) — 00K JF LcL)

@ LCL @ UCL

BE




LCL EEELTHIEZEHTS

st 2 :[XT -weL-b) [XT — (LCL — D)
e OGRR J OGRR J

ucL l /

é*ﬁﬁ&% = @(%ﬁ§+%UCL) - Q(%}E§+%LCL)

100%

50%

—(UCL—b)E

Xy — (UCL — b)/é

V= =N —
HA}ED+%UCL -

O -bpbD



—ERepER (Y =0.05 GRREIF=0.30)

1.20000

—LCL
1.00000

—ucL //r ‘\\
0.80000
% v\
%).60000
4

0.40000 /\\ \
0.20000

\

i

0.00000

0.2 0.4 0.6 0.8 1 1.2
AEfE [Nm]

GRREIFH: AFXRDIFIT=E —3~3DXEH

FEYb: BARDOPa=0.5IZx T HX&Y
b=LCL —X; FEf=l& UCL — X;

GRRE FH—

GRRE FH—

Xy BatByc [ METRLc | Puc P Pa

0.4 11 3| 1.0000| 0.9987 | 0.00135
0.42 10.6 2.6[ 1.0000 [ 0.9953| 0.00466
0.44 10.2 2.2| 1.0000| 0.9861 [ 0.01390
0.46 9.8 1.8] 1.0000 | 0.9641 [ 0.03593
0.48 9.4 1.4 1.0000 | 0.9192| 0.08076
0.5 9 1| 1.0000| 0.8413| 0.15866
0.52 8.6 0.6] 1.0000| 0.7257 [ 0.27425
0.54 8.2 0.2 1.0000 [ 0.5793| 0.42074
0.55 8| -2.2E-15[ 1.0000 [ 0.5000 | 0.50000
0.56 7.8 -0.2| 1.0000| 0.4207 | 0.57926
0.58 7.4 -0.6| 1.0000 [ 0.2743 [ 0.72575
0.6 7 -1] 1.0000 | 0.1587 [ 0.84134
0.62 6.6 -1.4] 1.0000 [ 0.0808 [ 0.91924
0.64 6.2 -1.8| 1.0000 | 0.0359 | 0.96407
0.66 5.8 -2.2| 1.0000 [ 0.0139 | 0.98610
0.68 5.4 -2.6| 1.0000 | 0.0047 | 0.99534
0.7 5 -3| 1.0000 | 0.0013 | 0.99865
0.72 4.6 -3.4| 1.0000 [ 0.0003 [ 0.99966
0.74 4.2 -3.8| 1.0000 [ 0.0001 [ 0.99991
0.76 3.8 -4.2] 0.9999 | 0.0000 [ 0.99991
0.78 3.4 -4.6] 0.9997 [ 0.0000 [ 0.99966
0.8 3 -5| 0.9987 | 0.0000 | 0.99865
0.82 2.6 -5.4| 0.9953 [ 0.0000 [ 0.99534
0.84 2.2 -5.8| 0.9861 | 0.0000 [ 0.98610
0.86 1.8 -6.2| 0.9641  0.0000 [ 0.96407
0.88 1.4 -6.6| 0.9192 | 0.0000 [ 0.91924
0.9 1 -7 0.8413 | 0.0000 | 0.84134
0.92 0.6 -7.4| 0.7257  0.0000 [ 0.72575
0.94 0.2 -7.8| 0.5793 [ 0.0000 [ 0.57926
0.95 0 -8| 0.5000 | 0.0000 | 0.50000
0.96 -0.2 -8.2| 0.4207 | 0.0000 [ 0.42074
0.98 -0.6 -8.6| 0.2743 [ 0.0000 [ 0.27425
1 -1 -9] 0.1587 | 0.0000 [ 0.15866
1.02 -1.4 -9.4] 0.0808 [ 0.0000 [ 0.08076
1.04 -1.8 -9.8| 0.0359| 0.0000 | 0.03593
1.06 -2.2 -10.2] 0.0139 | 0.0000 | 0.01390
1.08 -2.6 -10.6[ 0.0047 | 0.0000 | 0.00466
1.1 =3 -11] 0.0013| 0.0000 | 0.00135




